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Gl : 62.5MVA, 10.5kV, xj=0.125, x,=0.16, Ey; =11kV
G2 : 31.5MVA, 10.5kV, x3=0.125, x, =0.16, Ex =10.5kV
T1 : 60MVA, 10.5kV/121kV, U, %=10.5

T2 . 31.5MVA, 10.5kV/121kV, U, %=10.5L :

X; =X, =04Q/km, xy=2x;, L=40km.
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(0.2+0.175+0.121) x (0.333 + 0.4)

- 1.05x0.733 +1x0.496

0.121 0333 04

\

0.2+0.175+0.121 + 0.333 + 0.4

 Efp(0.333+0.4)+ EX(0.2+0.175+0.121)

0.2+0.175+0.121+0.333 + 0.4
=1.03
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1.03
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j(0.296 + 0.334 + 0.185)

Ufa(l) — E;: - ija(l)XIE )
=1.03 — j(—j1.264)x 0.296 = 0.656

Uta@) = M@ X2 3 = —i(—j1.264)x 0.334 = —0.422..

Utaoy = — a0y X0y = —i(—j1.264)x 0.185 = —0.234.
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Ifa =31 fa(l) — 3x(—jl1.264)=—j3.792.

Iy, =T =0

Uta = Uty + Utaq2) + Utao) =0
Up, =2"Up ) +aUs,) + Upygo) = 0.6562" —0.4242-0.234
= —0.351— j0.933 = 0.977¢ 110

Upe =aUpqy +2 Ugyy + Upy() = 0.656a — 0.4242” — 0.234

= —0.351+j0.933 = 0.977¢/1106
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Iy =— —0.502(kA) U, =— =66.4(kV).

I,.|=3.792x0.502 =1.904(kA) -

J..|=0.977%66.4 =66.2(KV) «
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